FUBMS

Paper / Subject Code: 81903 / Business Statistics. / ' 2 S NG

Time: 2:30 hours
Note: 1) All Questions carry equal marks of 15 each.
2) Graph papers will be provided on request.
3) Use of Non-Programmable Calculators is allowed.
4) Figures 10 the right indicate full marks.
)

5) In Q no. 1 attempt both the sub parts A and B.

Q1aj Fill in the klanks (any 8 put of 10)

i The data collected for the first time is known as 'v (Secondary data "Prnmary Data Raw
data) ! Bt B LS e
ii.  The middlemost observation, dividing the entire drstrlbutlon mto two equal parts 15 known as
. (Mean, Median, Mode) ... : '~
jii. If the values of Arithmetic Mean and Medlan are, 4.5 and 34 1 respectavely, then the Value of mode
can be . (33.3,40.2, 35) : i »
iv.  The diagram used to get rough idea about: relatlonshrp between varlab!es X and y is known as
. (Scatter Diagram, Pig: Dlagram Ba dlagram) ;
v.  The Co-efficient of Correlation always lies between .
(Increasmg, decreasmg)

(0&1 —1&1 1&0)

Vi The Correlation Co-efficient is AL : ofRegressxon Co- effncrents
(Arlthmetlc Mean Geometrtc ‘Mear Wexghted mean)
vii.  The method used to derive regressmn constants of a regressnon equatﬂ :
(Product moment, Least Squares Moving average)

viii.  There are components ofa time series. (3,4, 5)

ix. Least Square Method is used to ‘compute. L
(Non Linear Trend, Linear Trend ‘Seasonal trend):?' S R o

X.  The variation occur due to seaso‘n‘_ changes in a tlme senes

(Seasonal, Cyclic, :rregular) 3

1b) State True or False 57 any Seven out of Ten Ry o , 79x1m=7m

i) The Histogram can be used to locate graphrcally the value of Medlan
ii) The suitablée measure of. dlspersmn to mdncate extreme varratlons in the data is Range.
m) If the value of co-efficient of variation is' more, the conSlstency of the data is more.
iv) An occurrence of an outcome to anystatistical expenment is called Sample Space.
v) The family Budget Method is. used to calculate the_Cham Base Index Numbers.
vi) Future trend values can be estimated with the'he'lp of Straight Line Trend.
vii) If thetwo regresswn coefﬂcnents are negative, then the value of the correlation co-efficient will be
positive. 2y :
viii) While calculating rank correlatlon co- efﬁcrent if the values of variable x are ranked in increasing order,
then the values of varlable y must be ranked in increasing order.

ix) If two variables x and y are hrghly correiated then Y can be estimated for a given value of X using
Regression Equation of Yon X .

x) Mean Devratlon isa Relatlve Measure of Dispersion.

2a) Represent the“foll_owmg d‘atya ,by a Subdivided Bar Diagram {7m)

Year
Exports 1995 | 2000 | 2005
Food & Drinks 25 32 35
Raw Materials 18 20 30
Miscellaneous 12 15 18
Total 55 67 83
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2b) Calculate Median for the following data and locate it graphically

Marks 0-10 | 10-20| 20-30 | 30-40
No of Students 18 22 30 28
(OR)

annel for3 months are as

2p) The Regnonal percentage of viewers for a popular TV Serial on DD Metro : ]
% (7m). ;

follows. Represent the following data by Multiple Bar Dlagram

Month North | South
April, 2012 | 40
May, 2012 | 50
June, 2012 | 45 ’ff

2q) Calculate Arithmetic Mean and Mode from the foliowmg data

Height 120-125 | 125-130 130,-135 '
No of Children 7 10 s 187

‘.,?135 140

~ (8m)
Age 20-= 22 22 24 24+ 26
No of Employees | 70, |90 . | ,1?1'0_* 80
o (7m)
Ly 104 ke o
‘ : (OR)
3p) Find Standard Dewat:on and Co- efﬁccent of \/arlatlon for the following data. (8m)
Marks gf'}‘"i 030 '20 25 5530 [ 30-35 | 35-40 | 40-50
No of Students = .| 16 »,;28; = AT S 4580 18 14
3q) Calculate Reg'rgs_siénffﬁqu‘étzi:on of y‘dnﬂxf;irfthé f,ollo’Wing data. Also Estimate y when x = 70.  (7m)

o [x [5a]65]75] 825759 [60] 6458 ] 62
v 15867 768060 64 |65 65]60]70

4a) Calcuiate Fishers Index Number for the following data. Also construct Cost of Living Index Number using

Aggregate Expenditure’ Method o i (8m)
: o ST | Base Year Current Year
- Commodities | Price | Quantity | Price | Quantity

+_Rice 4 15 5 20

~ Pulses 8 20 12 '30

. Sugar 6 25 8 20

2 0il 6 3 8 4

Milk 14 2 20 3
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4b) Calculate Five Yearly Moving Averages and represent it graphically.

Year | 2000 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 010
Exports 51 53 50 57 60 55 59 B2 A
(OR)

4p) Calculate Chain Base Index Numbers for the following data._:

4q) Fit a Straight Line Trend for the following Time Senes and represent it

Year | 2000 | 2001

2002

(2003 | 2004

Prices | 15 18 |25

;32?f?w; -

Year

2010 | 2011 | 2012

2013t

701

4 2015

2016

2017,

imports

87

%

90 o9

Sa) For the following probability dlstrlbutlon obtaln l) P(X > 2) )

iv) E(X)

v) V(X)

’1’0’5’ I

21 110

1  "2[

0.1 0.2 0.2

0.3 '0.15,

OQS:Q

P(x)

100

PIX1) "-k‘f’liriﬁi,)ﬁ‘P‘('Xl= 26r3)

5b) For the following Payoff tab!e, find fhe optimal deus:on usmg Laplace Cnterlon and Minimax

Regret Criterion

Course of States of Nature ¢
~ Action 81 | 825 1553
SRY Y S10100 T 2507 190
B2 350742004 04
A3 S| <507 [160-1 400
-~ (oR)

5p) Write short notes on.any three out of five.
i. Components of Decision Making

ii. Sources of collection of Primary Data: :

iii.  State the Additive Law- of Probability.-How will the statement of the theorem be modified if the two

events are Mutually Exclusive and Comphmentary Events

iv. Components of Timé Series.

V. Dastmgu:sh between Quahtatnve & Quantltatlve Data; Class Limits & Class Boundaries
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